SAFZHHE BASHRERAEE

AER: FHM3F8A 12H

= BB i

Tm 50cm Ocm
1 REWLHEEKO 0.072 0.082 0.114
2 mELEEKO 0.084 0.080 0.098
3 B 8 =Rl 0.062 0.074 0.074
4 KERKFET 0.066 0.070 0.086
5 REWLHEEKO 0.064 0.066 0.072
6 BEEXE 0.072 0.074 0.088
7 Ei% 0.072 0.072 0.076
8 DTV #E - EKEDRM 0.068 0.074 0.072
9 ITRYEDEAT 0.090 0.092 0.106
10 [>—Y—t& 0.070 0.074 0.082
11 |[T—=LEDYUT IO 0.074 0.080 0.082
12 |48 0.068 0.064 0.064
13 |F290FRD 0.078 0.082 0.086
14 |T592KR0Q 0.080 0.082 0.086
15 |F92592KR0 0.072 0.076 0.078

maiE 0.090 0.092 0.114

=IEfE 0.062 0.064 0.064

FHiE 0.073 0.076 0.084




